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1. (1) (a+b)(c—d)=
= ac—ad+bc—bd

3) (x+2)@+3)
=xy+3xr+2y+6

2. (1) (x—2)(x—6)
=x*—6xr—2x+12
=x*—8x+12

(3) (2a+1)(a+4)
=2a*+8a+ta+4
=2a*+9a+4

3. (1) (3a+2b)(2a+3d)
=6a’+9ab+ 4ab+ 60
=6a’+13ab+6b°

(3) (Tx+4y)(xr—5y)
=Tx*—3bxy +4xy — 20y
=Tx*—31xy —20y°

4. (1) (a+1)(a+b—1)
=a’+ab—a+a+tb—1

=a*+ab+b—1

8 (@+2y—-1DC2xr—y)

=2x'—xy+tixy— 20 —2x+y

=2x"+3xy—2y*—2x+y
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2) (a—b)c—d)
= ac—ad—bc+bd

@) (-D+4)
=xytdr—y—4

(2) (x—4)(x+5)
=x*+b5x—4x—20
=x*+tx—20

(4) QBx+5dx—1)
=12x"—21x+20x—35
=122~ x—35

(2) (9a—2b)(5a+6b)
=45a’+54ab—10ab—12b
=45a’+44ab—12b°

4) Q2xr—3y)8xr—y)
=162"—2xy — 24xy+3y°

=162 —26xy + 3y

(2) (a+2b)(2a+b+1)

=2a*+ab+a+4ab+26*+2b

=2a’+5ab+2b°+a+2b

1) (x—y+3)Bx—2y)

=3x'—2xy—3xy + 2y* +9x— 6y

=32 —5xy+2y*+9x— 6y



